
Английский язык 

 

Задание с выбором одного правильного ответа  

1. Choose the correct variant of the phrasal verb ”to meet”: 

A) to get over 

B) to get along 

C) to get up 

D) to get off 

E) to get together 

 

Задание с выбором одного или нескольких правильных ответов  

 

2. “oo” is pronounced differently in the in the word (words)______ 

A) flood 

B) boost 

C) proof 

D) blood 

E) good 

F) root 

G) food 

 

Контекстные задания  

1-контекст 

 

5 заданий с выбором одного правильного ответа  

 

Every year fewer people speak English as their mother tongue – but more 

people speak it as a second or foreign language. In 1950 nearly 9% of the world’s 

population spoke English as their first language. By 2050 the proportion will have 

dropped to just over 5%. Chinese is spoken by more speakers that any other 

language and the numbers of speakers of Spanish, Hindi and Arabic are increasing 

rapidly. During next few years English will become a language mainly spoken by 

bilingual and multilingual people. It is estimated that 75% of the world’s mail is in 

English and 60% of the world’s telephone calls. English is spoken practically all 

over the world. It is spoken as the mother tongue in Great Britain, the United States 

of America, Canada, Australia and New Zealand. An England's history helps to 

understand the present condition of English. Many English words were borrowed 

from the languages of Angles and Saxons. 

 

1. English language is 

A) used in the majority of world’s emails 

B) not popular in China 

C) the second language for 20% of world population 

D) the mother tongue for 50% of world population 

E) not used in India 



 

2. To estimate’ means 

A) to calculate 

B) to announce 

C) to be known 

D) to spread 

E) to explain 

 

3. By 2050 

A) 5% will have spoken English 

B) 60% will have spoken Spanish 

C) 75% will have spoken English 

D) less that 5% will have spoken English 

E) the number of English speaking people will have dropped 

 

4. Chinese language is 

A) not as popular as English 

B) increasing in Spain, India and Arabic countries 

C) the leading language in the modern world 

D) used only in Asian countries 

E) the leading language in the future world 

 

5. The English words were borrowed 

A) from Saxons 

B) the United States of America 

C) from Canadian and Australian languages 

D) from Hindi and Spanish 

E) from India 

 


